20.11.19 (FN)

EVERWIN MATRIC. HR. SEC. SCHOOL

Std: X (A-E) COMPREHENSIVE REVISION PROGRAMME (CRP) -II  Marks: 50

BIOLOGY - PART-I

I. Choose the correct answer: 6x1=6

1.

II.

. To increase the sugar production

. Deforestation leads to

Protoxylem lies towards the center and metaxylem lies
towards the periphery. This condition is called as

a) Exarch b) Endarch c) Concentric d) Radial

. Glycolysis takes place in

a) cytoplasm b) mitochondria

c) chloroplast d) cell membrane

is sprayed in
sugarcanes.
a) Auxin

b) Cytokinin c) Gibberellins d) Ethylene

. Decreased secretion of thyroid hormones in the children leads

to
b) cretinism

d) Exopthalmia

a) simple goitre

¢) myxoedema

. The gas released from vehicles exhaust are (i) Carbon

monoxide ii) sulphur dioxide iii) oxide of nitrogen
a) (i) and (ii) b) (i) and (iii)

¢) (ii) and (iii) d) (i), (ii) and (iii)

in rainfall.

a) decrease b) increase
c) abundant level d) moderate level

Answer any five of the following questions: 5x2=10

. a) Cortex lies between

b) Casparian strips are band like thickening made of

. Write the External factors affecting photosynthesis.

Time: 1% hrs.

9. What are chemical messengers?

10. Name the hormones produced by Adrenal Medulla.

11. Draw and label the parts of chloroplast.

12. Why fossil fuels are to be conserved?

13. Write few measures taken to conserve Electrical energy.

III. Answer any five of the following questions: S5x4=20

14. Write the differences between Dicot stem and monocot stem.

15. Draw and describe the internal structure of Dicot Leaf.

16. Write the physiological effects of Ethylene.

17. Sanjay is siting the exam hall. Before the start of the exam,
he sweats a lot, with increased rate of heart beat. Why does
this condition occur?

18. What are the consequences of deforestation?

19. Write the environmental concerns of Shale gas.

20. What is biogas? What are the uses of biogas?

IV. Answer any two of the following in detail: 2x7=14

21. Describe the structure of Mitochondria and mention
its functions.

22. Describe an experiment which demonstrates that growth

stimulating hormone is produced at the tip of coleoptiles.

23. Enumerate the importance of forest.
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I. Choose the correct answer:

1.

SOCIAL SCIENCE - PART-II

7x1=7
Which president of the USA Pursued ‘Good Neighour’

policy towards Latin America.

a) English b) Spaniards c) Russians d) French
2. established a full-fledged printing press in 1709, at

Tranquebar.

a) Caldwell b) F.W. Ellis

c) Ziegenbalg

3.

a) USA

4.

12.

II1.

13.

. Fill in the blanks:
. The secret state police in Nazi Germany was known

d) Meenakshi Sundaram
Dollar imperialism is used to describe the policy of .
b) USSR c) England d) France
Who among the following decides whether a Bill is a Money
Bill or not?

a) The President

c) Parliamentary Affairs Minister

b) The Attorney General
d) Speaker of Lok Sabha

. The President of India resides at the building .

a) Rajbhavan b) Rashtrapati Bhavan
c) White Palace d) Parliament
tax is charged on the benefits of derived from property

ownership.
a) Income Tax b) Wealth Tax
c) Corporate Tax d) Excise Duty

introduced Income Tax in India.
a) Sir James Wilson b) Lord Dalhousie
c) Lord Canning d) Sir John Cradock
Sx1=5

as

. The name Suriyanarayana Sastri changed in Tamil as

. South Indian Liberal Federation is changed as

. The Chief Justice and other judges of the supreme court
hold the office up to the age of .

The origin of the word ‘tax’is from the word

Match the following:
a) Tongking -

b) Article 76 -

c) Rajyasabha -

d) Dravidian Home-
e) GST -

S5x1=5
Office of the Attorney General
238 Elected by the State Assemblies
1 July 2017
Guerrilla Activities
Natesanar

Time: 1% hrs.

IV. Answer the following under each captions: 2x4=8
14. Political developments in South America
a) By which year did the whole of South America become
free from European Domination?

b) How many republics came into being from the central
America?

c) In which year was Cuba occupied by the USA?

d) What made oligarchic regimes unpopular in South
America?

15. Periyar E.V.R
a) When did periyar form Dravidar Kazhagam?

b) What were the Newspapers and Journals run by Periyar?
c) Why was Periyar known as Vaikom hero?
d) Which was the most important work of Periyar?

V. Answer any six of the following in brief:

16. What do you know of the White Terror in Indochina?

17. Who were Boers?

18. Highlight the contribution of Caldwell for the cause of
South Indian language.

19. How did Periyar try to improve the condition of women?

20. Do you know the women who rendered their service for
social transformation in Tamilnadu?

21. List out any two special powers of the Attorney General in
India.

22. Who can act as a president when there is a situation of
President and Vice President lie vacant? Has it happened in
India? Explain.

23. What is meant by black money?

24. Write the canons of tax system.

VI. Answer any two in detail:

25. Write a note on how the process of decolonization
happened in India.

26. Describe the Legislative powers of the president.

27. Describe the background for the formation of the Justice
party and point out its contribution.

28. Write the structure of GST.

VII. Mark the following places on the world outline map: 5x1=5
a) Germany b) Japan c) Greece
d) Moracco e) Austria-Hungary

2x4=8

6x2=12
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MATHS - PART-II

I. Choose the correct answer: 10x1=10
1. The sum of all deviations of the data from its mean is

a) always positive b) always negative
C) zero d) non-zero integer
2. The standard deviation of a data is 3, if each value is
multiplied by 5 then the new variance is .
a) 3 b) 15 c) S d) 225

3. Which of the following is incorrect?
a) P(A)>1 b) O< P(A)<1 ¢) P(@)=0  d) P(A) + P(4)=1

4. The probability of getting a job for a person is g If the
probability of not getting the job is % then the value of x is

a) 2 b) 1 c)3 d) 1.5
5. If the mean and coefficient of variation of a data are 4 and
87.5% then the standard deviation is .
a) 3.5 b) 3 c) 4.5 d) 2.5
6. In A LMN, £L=60°, A M=50°. If ALMN~APQR then the value of
ZRis .
a) 40° b) 70° c) 30° d) 110°
7. The perimeters of two similar triangles AABC and APQR are
36cm and 24cm respectively. If PQ=10cm, then the length
of AB is

a)6§cm b)%gcm c)66§cm d) 15cm

8. Two triangles are similar if their corresponding angles are
angles are .
a) congruent b) equal c) same ratio d) proportional

9. A pair of equiangular triangles are .
a) similar b) congruent c) proportional d) same

10. Which of the following is similar:

a/\ A o ()
. ) Q) /\

II. Answer any six of the following: 6x2=12
11. If the standard deviation of a data is 3.6 and each value
of the data is divided by 3, then find the new variance and
new standard deviatioin.
12. Find the range of the following distribution:

Age(in | 46 18] 1820 | 20-22 | 22-24 | 24-26 | 26-28
years
Frequency 0 4 6 8 2 2

13. If P(A)=3, P(B)= , P(AUB) = 1/5 then find P(ANB)

14. A and B are two candidates seeking admission to IIT. The
probability that ‘A’ getting selected is 0.5 and the probability
that both A and B getting selected is 0.3. Prove that the
probability of B being selected is atmost 0.8.

15. If the range and Coefficient of range of the data are 20 and
0.2 respectively, then find the largest and smallest values of
the data.

16. Check whether the triangle is similar and find the value of
X. C
3




17. A vertical stick of length 6m casts a shadow 400cm long on
the ground and at the same time a tower casts a shadow 28m
long. Using similarity, find the height of the tower.

18. A coin is tossed thrice. What is the probability of getting two

consecutive tails?

III. Answer any four of the following: 4x5=20

19. Find the standard deviation of first 21 natural numbers.

20. Two dice are numbered 1,2,3,4,5,6 and 1,1,2,2,3,3
respectively. They are rolled and the sum of the numbers on
them is noted. Find the probability of getting each sum from
2 to 9 separately.

21.If A, B, C are any three events such that probability of B is
twice as that of probability of A and probability of C is thrice

as that of probability of A and if P(AnB)=%, P(BNC)= %,
P(ANC)=:, P(AUBUC)= — , P(ANBNC) = —_, then find P(a),
P(B) and P(C).

22. The King, Queen and Jack of the suit spade are removed from
a deck of 52 cards. One card is selected from the remaining
cards. Find the probability of getting

i) a diamond ii) a queen  iii) a spade
iv) a heart card bearing the number 5

23. Two poles of height ‘a’ metres and ‘b’ metres are ‘p’ metres
apart. Prove that the height of the point of intersection of the
lines joining the top of each pole to the foot of the opposite

. . ab
pole is given by —; metres.

24. State and prove Basic Proportionality Theorem.
IV. Answer the following: 1x8=8
25. Construct a triangle similar to a given triangle PQR with

its sides equal to % of the corresponding sides of the triangle

PQR (Scale factor Z> 1)
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I. Chose the correct answer: 10x1=10
1. The range of the data 8,8,8,8,8..... 8is .
a)0 b) 1 c) 8 d) 3
2. If the standard deviation of x, y, zis P then the standard
deviation of 3x+5,3y+5, 3z+5 is .
a) 3P+5 b) 3P c) P+5 d) 9P+15
3. The probability a red marble selected at random from a jar
containing p red, q blue and r green marbles is
) 4 ) P ) p+q ) p+r
p+q+r p+q+r p+q+r p+q+r
4. The mean of 100 observations is 40 and their standard
deviation is 3. The sum of squares of all deviation is
a) 40000 b) 160900 ¢) 160000 d) 30000
5. Kamalam went to play a lucky draw contest. 135 tickets of the
lucky draw were sold. If the probability of Kamalam winning is

%, then the number of tickets bought by Kamalam is .
a) 5 b) 10 c) 15 d) 20

6. A purse contains 10 notes of ¥ 2000, 15 notes of ¥ 500, and
25 notes of ¥ 200, one note is drawn at random. What is the

probability that the note is either a ¥ 500 note or ¥ 200 note?
4

)5 b 55 9 3 93

7. If A ABC an isosceles triangle with ~/C=90° and AC=5cm, then
ABis .
a) 2.5cm b) 5cm c) 10cm d) 5v2 cm

8. The perimeters of two similar triangles A ABC and A PQR are
36cm and 24cm respectively. If PQ=10cm, then the length of
AB is

a) 6 % cm b) %g cm c) 66 % cm d) 15cm

9. Two triangles are said to be similar if their corresponding
are proportional.
a) angles b) sides c) vertices  d) altitudes

10. If the variance is 0.49 then the standard deviation is
a) 0.07 b) 7 c) 0.7 d) 0.007

II. Answer any six of the following: 6x2=12

11. The range of a set of data is 13.67 and the largest value is
70.08. Find the smallest value.

12. If the mean and Coefficient of variation of a data are 15 and
48 respectively, then find the value of standard deviation.

13. Two coins are tossed together. What is the probability of
getting different faces on the coins?

14. What is the probability that a leap year selected at random
will contain 53 Saturdays?

15. If A and B are two events such that P(A)=%, P(B)=% and

P(A and B) = % find P (not A and not B)

16. A boy of height 90cm is walking away from the base of a lamp
post at a speed of 1.2m/sec. If the lamp post is 3.6m above
the ground, find the length of his shadow cast after 4

seconds.
17. Check whether the triangle is similar and find the value of x.
A
5 p
1109
70° X

B 3 Q 3 C
18. Show that A PST~ A PQR




III. Answer any four of the following (Q.No.24 compulsory) 4x5=20

19.

20.

21.

22.
23.

For a group of 100 candidates the mean and standard
deviation of their marks were found to be 60 and 15
respectively. Later on it was found that the scores 45 and 72
were wrongly entered as 40 and 27. Find the correct mean
and standard deviation.

A bag contains 6 green balls, some black and red balls,
number of black balls is as twice as the number of red balls.
Probability of getting a green ball is thrice the probability of a
red ball. Find (i) number of black balls (ii) total number of
balls.

A coin is tossed thrice. Find the probability of getting exactly
two heads or atleast one tail or two consecutive heads.

Find the Coefficient of variation of 24,26,33,37,29,31.

Two triangles QPR and QSR, right angled at P and S
respectively are drawn on the same base QR and on the same
side of QR. If PR and SQ intersect at T, Prove that PT x TR=
ST x TQ

24. State and prove Basic proportionality Theorem.
IV. Answer the following : 1x8=8
25. Construct a triangle similar to a given triangle PQR with

its sides equal to g of the corresponding sides of the

triangle PQR (Scale factor g)
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CHEMISTRY - PART-I

I. Choose the correct answer: 6x1=6
1. Photolysis is a decomposition reaction caused by
a) heat b) electricity  c) light d) mechanical energy
2. The chemical equation,
NazSOs(aq + BaClaag = BaSO4)l+2NaClg represents which of
the following types of reaction?
a) Neutralisation b) Combustion
c) Precipitation
3. 4NaCl + 2Mg -
a) MgCl,+4Na b) Does not occur c) NaMgCl, d) Na(MgCl),

d) Single displacement

4. Rectified spirit is an aqueous solution which contains about
of ethanol.
a) 95.5% b) 75.5% c) 55.5% d) 45.5%
5. CoHsOH+302-2C02+3H20 is a
a) Reduction of ethanol b) Combustion of ethanol
c) Oxidation of ethanoic acid d) Oxidation of ethanol
6. Benzene is a
a) aromatic compounds b) alicyclic compounds
¢) number of moles d) acyclic compounds
II. Answer any five of the following:(Q.No.9 is compulsory) 5x2=10
7. What is photolysis? Write an equation for photolysis.
8. Identify the types of reactions
a) 2KCl0s MnQp 2KCl + 30;

b) 2Na) + Clag = 2NaCly

9. If the pH of a solution is 5.5, what is its pOH?

10. Fill in the blanks:
i) The ion formed by dissolution of H* in water is called ___
ii) The value of ionic product of water at 25°C is

11. What are the disadvantages of detergents?

12. Match the following:

Column - A Column - B

i) Cyclo-butane - alkene
ii) Propene - alkane
iii) Furan - alicyclic compound

iv) Pentane - Hetero cyclic compound
13. What is homologous series?
14. Assertion: Alkanes are saturated hydrocarbons
Reason: Hydrocarbons consist of covalent bonds.
i) A and R are correct, R explains the A.
ii) A is correct, R is wrong
iii) A is wrong, R is correct
iv) A and R are correct, R doesn’t explains A
III. Answer any five of the following questions: (Q.No.16 is
compulsory) S5x4=20
15. Differentiate between reversible and irreversible reactions.
16. Calculate the pH of 0.001 molar solution of HCI.
17. a) Raise questions when the pH of our mouth saliva falls
below 5.5, the enamel gets weathered.
b) To interpret what happens in the given situation:

Non metal oxides dissolve in rain water.



18. Explain the following reactions with examples:
i) Neutralisation reactions
ii) Electrolytic decomposition reactions
19. What is saponification of 0il?
20. a) How is ethanoic acid prepared from ethanol? Give the
chemical equation.
b) Write any two uses of ethanoic acid.

21. An organic compound ‘A’ is widely used as a preservative and
has the molecular formula C;H4O,. This compound reacts
with ethanol to form a sweet smelling compound ‘B’.

i) Identify the compound ‘A’

ii) Write the chemical equation for its reaction with ethanol to
form compound B’

iii) Name the process

22. Complete the following:

Formula IUPAC Name
i) CH3-CO-CHs
ii) Propanol
ii) Butanoic acid
iv) CH3-CH2-CH2-CH=CH>
IV. Answer the following: 2x7=14

23. a) What are called thermolysis reactions?
b) Why does the reaction rate of a reaction, increase on
raising the temperature?

(o)

24. a) Lemon Juice has a pH2, What is the concentration of H*

ions?
b) What is universal indicator? What is the use of it?
c) All combustion reactions are oxidations but all oxidations

are not combustion. Why?

25. a) How is ethanol manufactured from sugarcane?

b) Write any two uses of ethanol.

(o1)

26. a) Write the general characteristics of organic compounds.

b) Give a test to identify the presence of saturated and

unsaturated hydrocarbon.



